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1. I x +logyo(1+2%) = xlog;, S +logn 6 3,
A x Toress s 37

@) 2, -3
(b) A 2
(¢ 1

(d) 3

2. feenurdl w1 (101110), +(110), F AvFa
R 9T &, A

() (111), 3R (100),
(b) (100), 3 (111),
(c) (101), R (101),

(d) (100), 3T (100),

3. IE AW x UfRaAl @R x + 5 Hiew ¥ ey
BT y Rl 8k 11- y =wfam 2| AB iR
BA 31 faemm 31 x 3R y % A9 wum: 0
77

fed © 2T o

4. aﬁsnznp+—’i";—1)9 ®, 5t S, fdt AP

% e n W& F AR FI GhEa T 2, dl
e ST 1 27

(@) P+Q
(b) 2P+30Q
(c) 20

(d Q

5. G
(@-nx? +(r-px+(p-g)=0
% oo I E7
(@ (r-p)/lg-r) 1/2
(b) (p-aq)/l@-r) 1
(¢ (@-r)/(p-q) 1

(@ (r-p/(p-q) 1/2

6. e E 9 wg= ¢ R A=BuC ¥,
=4 E-(E-(E-(E-(E-A)) = ¥ 3
Tore Tg= % 99H 87



y b 4. If S, = nP+Ln;i)9, where S, denotes

x +10g;o(1+2%) = xlog;o 5+1og;o 6 the sum of the first n terms of an AP,
then the common difference is

then x is equal to

(@ P+Q

(@) "3 . (b) 2P+30Q

(b) (100), and (111), (@ (r-p)/g-r) 1/2

(c) (101), and (101), (b) (p-aq)/lg-r) 1

(d) (100), and (100), : (c) (@-r)/(p-a) 1

(d (r-p/(p—q) 1/2

3. The matrix A has x rows and x+95
columns. The matrix B has y rows and
11—y columns. Both AB and BA exist. 6. If E is the universal set and A= BuUC,

What are the values of x and y then the set E - (E — (E - (E —(E - A4)))) is

respectively? same as the set



7. AR A={x:x, 2H PN 8}, B={x: x, 5 Fl 10. I ‘PERMUTATION’ & A&l ¥ fray fafim
TN 2} 3R C={x:x, 10 & P B} 7, d AT ST ST Hohdl &7
An(BnC) Tras ster 37
(@ 19958400

(@ A

(b) 19954800
(b) B

(c) 19952400
€ . C

(d) 39916800
(d) {x:x, 100 %I IO &}

4i-6 10i 1 ¢
8. AR o 3R P FHHO 1+ x+x2 =0 % 7 %, ll'ﬁ’l:{ 14i 6+4i]3ﬂ-{k=§?%’m
1 B[ B [ =/~1%, T kA forash =R 27
Ao [ Ll e
W % 21';31 2~53i
& [ 1} s e ) !
B Rl ., [2-3 5
(®) | 7 2+3i |
i 2 R o
@ | _; 2] o -2 |
- - [2-3 7
© .5 243 |

9. IR |a| Tret quie & Py 7 =t ewfar &, @ R o
= § @ F9-8 wd B7 (@) B g
1. |ab|=|al|b| : -
2. |a+b|=|al|+|b]|
3. |a-b|2]||a|-|b]|

12. §HIO  |x-3[%+|x-3|-2=0 ¥ @
= fow Y e 1 Wi R wd sw R AR Tl b1 FThe T &7



7. If A= {x: xis a multiple of 2}, B={x: x is
a multiple of 5} and C={x:x is a
multiple of 10}, then AnN(BNC) is
equal to

(@) A
(b) B
(¢ C

(d) {x:x is a multiple of 100}

8. If o and B are the roots of the equation
1+ x+ x? =0, then the matrix product

2L

is equal to

i | -1 -1
@ | 2} (b) [_1 2}

1 A oI =]
L 2] (@) ["1 —2}

L

9. If |a| denotes the absolute value of an
integer, then which of the following are
correct?

1. |ab|=]al|b]
2. la+b|<|al+|b|
3. |a-b|z||a|-|b]|

Qalant +ha AAvrrant ancwar 11eino the ~rade

10. How many different permutations can be
made out of the letters of the word
‘PERMUTATION’?

(a) 19958400
(b) 19954800
(c) 19952400
(d) 39916800

Tl O | TS d e L iy
. =| 1af" maay | BRS ET gy WHEE

i =+/—1, then kA is equal to

2 I
5 2+3i|

+8 57
7  2+3i|

L, [2-8 5
”{ 7 2+3i|

12. The sum of all real roots of the equation
|x-312+|x-3|-2=0is



13. g fean mar ® for wefieton 16. 0 % Gt Al % fow wRfoes

x2—4x—log3P=O Coszg Sln29
2 2
% U IRfeeh &1 SHh P &1 =Faq HH
W‘i; ﬁ’ﬂ sin‘?g coszg
B
o7 1 HH 1 87
1 (@) 1
o
() 64
(b) cos®
1
c) —
{ 81 (c) sin©
(d 1 (d) cos?26

&all : T
14. =M A T T AE 3, N adj AT - (adj 4) 17, THF & o6 (x + @)1 + (x - )1%0 ¥ TR

1 W e R 7 3 w3t < e e 37
@ A
p (@ 202
(b) 2|A|I &l Icaweh Tegg &
(0 = =R, Rwd R () a8 2 @) 1ol
S AH R © s1
(d) THH R, Rehl Hif (3fk) a8 &
A 4 =0
15. TOF%A

18. (1+x)°° & WOR # x & Forow =l & 1urient &
62 x 67 x 68 x 616 x ... Id Y&l T ATt T 27



13. It is given that the roots of the equation
x2 —4x-logy P=0 are real. For this,

the minimum value of P is

1
(@) E

1
(b) T

1
(c) a
id 1

14. If A is a square matrix, then the value of
adj AT - (adj A)T is equal to

(@ A

(p) 2|A|I, where I is the identity
matrix

(c) null matrix whose order is same as
that of A

(d) unit matrix whose order is same as
that of A

15. The value of the product

1 1 1 1 : .
62 x64 x68 x616 x... up to infinite terms

16. The value of the determinant

N Nl

for all values of 6, is

(@ 1
(b) cos 6
(c) sin®

(d) cos 26

17. The number of terms in the expansion o
(x + @)% + (x — @)'9C after simplification

18

(@) 202
(b) 101
¢ 51
(d) 50

18. In the expansion of [1+x}50, the sum o
the coefficients of odd powers of x is
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20. TH Afh H 4500 A= 6l o e B 98
nth A9 rd e ¥ Rey 92 fmar 2, 99
ST 98 §&1 @, ¥ 39008 TS B 9

L’ll =a2 '—"(13 =...=a10 =150

3ﬁ1a10, A11s Args - APﬁ%,ﬁﬂWFﬁ
AR -2 7, @ wf A A e & W fean

T T ?

(d) 16

22. I ¥0 =9 N x N T U T4 R 36 THR

afeTier Rt fop

(@, b R(c,d)=a+d=b+c

@l (a, b), (c, d)e Nx N & fag &1, @t @9
graey a1 87

(@) I THfHT
(b) A FHE R GHWF
(c) TeHM =Y
(d) e TG

23. I y=x+x2
x <18, @ = % 3 Bm-a1 wd 27

(@ x-=

y

1+ y

3

T P

3T Y& ek, &l



19. If a, b, ¢ are non-zero real numbers,
then the inverse of the matrix

a 0 O
A=|0 b 0
0 0 ¢
is equal to
a ! 0 0
@ | @ B B
g B
(a7l 0 0
(b) ﬁ 9. »Y o
0 B etk
[ 1 0 O
(c) % 0.1 0
&0 6,0
; M O @7
(d) = 0 b
LO 0 c|

20. A person is to count 4500 notes. Let
a, denote the number of notes he
counts in the nth minute. If
a =ay =0z =...=Q)p = 150, and gy,
a1, Ay, ... are in AP with the common
difference -2, then the time taken by

21. The smallest positive integer n for which

.\
(1+I_) =118
1-1

(@) 1
(b) 4
(c) 8
(d) 16

22. If we define a relation R on the set Nx N
as (a, ) R(c, d)<=a+d=b+c for all
(@, b), (¢, d) € N x N, then the relation is

(a) symmetric only
(b) symmetric and transitive only
(c) equivalence relation

(d) reflexive only

2 3

23. Ify=x+x“+ x> +...up to infinite terms

where x <1, then which one of the
following is correct?

(@ x=—L

1+ y

(b) x=—Y

1=




24. Fie o 3R B WHF 3x2 +2x+1=0 % qa 28. uf3
g, @ a8 i, Fes qa o +p7! 3R

a
; 1.8+2.3243.3% 4. 4 n.3n = 2R-03%+b
B+a~! ®, dH-AT _? ’ i 4
(@) 3x2 +8x+16=0 ®, @ a 3R b HAI: F1 &7
2 -_ =
(b) 3x“ -8x-16=0 el 1, B
(c) 3x? +8x-16=0
(b) n,3
(d) x?+8x+16=0
(c) n+1,2
1. 1 1 :
25. o1 + +... A 921 qh (d n+1,3
logze logse? logse?
1 TE =127
(@) log. 9 (b) 0O 29. APQOR W, AR=g 8l R tan [g] AR
) 1 (d) log, 3 tan[g),'ﬂﬂaﬂﬂax2+bx+c=0%§'§§l%,
e § | - wd 2?

26. 16 A % o T =/ 9@ 1 vy R s
R T T At oWel % ] d% S-S (@) a=btc
Fral omg ST #1 =R TG |9 w e
WEF AT TRd ¢ 3R A @H AR @ T
S IR &1 3 Tha TR A 93 weha 87

(@) 24 x8!x 8|
() (813

(b) b=c+a
fc) c=a+b

(d b=c

210x 8!x 8!
(c) X OUX 30. qﬁ‘z_il=2%,a‘[|z|ama1f%annm%ﬂ%
(d) 16! ;)

U 87



24. If o and B are the roots of the equation
3x2 +2x+1=0, then the equation
whose roots are ¢ +B ! and B+a”! is

(a) 3x2% +8x+16=0
(b) 3x%-8x-16=0
(c) 3x2+8x-16=0

(d) x2%+8x+16=0

25. The value of

. + L + x +... up to
logg e log, e? log, et
infinite terms
is
(@) log, 9 (b) O
(c) 1 (d) log, 3

26. A tea party is arranged for 16 people
along two sides of a long table with
eight chairs on each side. Four
particular men wish to sit on one
particular side and two particular men
on the other side. The number of ways
they can be seated is

(a) 24 x8!x8!
(b) (81)°
(c) 210x8!x8!
(d) 16!
27. The system of equations kx+y+z=1

x+ky+z=k and x+y+kz=k2 has no

solution if k equals
(@) O (b) 1

€ -1 (d) -2

ADU-S-LET/81A 11

28. If

_en-13%+b
4

1,842,832 +3,3% 4, 530

then a and b are respectively

(@) n,?2
(b} n,3
(¢ n+1,2

d n+1, 3

29. In APOR, ZR=21_1f tan (f) and tan (9]
2 2 2
are the roots of the equation
ax? + bx +c= 0, then which one of the
following is correct?
fa) a=b+c
(b) b=c+a

fcf c=a+b

(d b=c

30. If‘z—i =2 then the maximum value of
z

|z| is equal to

(@ 1++/3
(b) 1+4/5
(c) 1-4/5
(d) J5-1

[P.T.O



31. Tl ot % 25 m I @ w fog 4 ©
fer a1 3999 Hor 150 § R e A
% fdfens 1 /@9 ®Iv 45° B oi| &
A8 ¥ SR 6d 6l s o 87
(@) 25 m
(b) 25V3 m

(¢} 50 m

(d) 5043 m

32. tan9® — tan 27° — tan 63° + tan 81° < HMH
g TR 27

(@) -1
(b) O
(c) 1

d 4

33. /3 cosec 20° — sec 20° HI HH Trg®h &K
®7

(a) 4
(b) 2

(c) 1

@ -4

ADU-S-LET/81A 12

34. HIV o F QA 9T A IR B 3 yHR R
fFm ™ % 0 A-B=x 3R
tan A: tan B= p:q 2| sin x & 9 A%

SR 27
p+q)sina sino
@ 2rdisne ., p
pP—q p+tq
sina - q) sino
(c) B : (d) M_
pP—q p+q

35. sin™! (%) +tan~! (—;] 1 H1H Toheeh e 27

@ O @)

A3

(c) g (d)

N33

36. % T & I R U A wk T F WY F
I HIV HEIM: 30° R 45° | AR TR
SR by ® 3R @S A SE Ay R, A B
Y FH9-9 Ge 87

2hphr _ 5
b 3+4/3 o

5 Pr-hp _hp

MY 2

3. M=4+J§
hP

= o 1T e 1 R wE I gAY
(@) ae 1 3R 3
(b) Had 2 3N 3
(c) whad 1 3R 2
(d) 1,233



31. The angle of elevation of a stationary 34. Angle o is divided into two parts A

cloud from a point 25 m above a lake is and B such that A-B=x and
15° and the angle of depression of its tanA: tan B=p:g. - The:: value of
image in the lake is 45°. The height of sin x is equal to
the cloud above the lake level is " ;
p+q)sina p sind
O S s
(@) 25 m
p sino —q) sina
(c) (d) {pr=ig) ik
(b)) 25V3 m r-q rPtq
(c) S0 m 35. The value of
e tan-1 1
is equal to
32. The value of (@ O (b) g
tan9° — tan 27° — tan 63° + tan 81° 4 b4
(& (@ 7z

is equal to

36. The angles of elevation of the top of a
tower from the top and foot of a pole are

L respectively 30° and 45° If hy is the
height of the tower and hp is the height
(b) O of the pole, then which of the following
are correct?
c) 1
() 1 QhPh’l‘ e h2
" 3+43 F
(d 4 e
5 hy —hp _hp
J3+1 2
33. The value of ~/3 cosec20® —sec20° is 5, o Ay YRE) 4 =
equal to ' hp



837. @ Ty ABC # a-2b+c=0 3I 40. sin™! x % g&I WA F Favrar § B ®7
cot [é) cot (E) &1 HH =7 87 '
2 2

(@) T
(33
(b) 3 (b) [-g g}
© > *
@ 1 © [0’ g]
@ [0, 1]

38. J1+sinA =- (sing +cos§-]'ﬂ'@pl % fe

(@) =ad % AL %n-
41. gl (g, b), (0, 0), (~a, - b) 3R (@b, b2) ¥

T 3n
(b) %b—cra§<A<7 @) T TR g i g

(c) %<A<% (b) T TR ¥ o g
T o % I
(d) O<A<% (© g
(d)
39. Biys ABC # 4R
sin? A + sin? B+sin2C=2 42. Holeg (REA) ¥ 9906 x +2y-22=9 W
cos? A+cos? B+cos?2 C FAfsera 6t weTs fohees SR 27

A N = Bror= B e =~ A9



37. In a triangle ABC, a-2b+c=0. 40. The principal value of sin™* x lies in the

The value of cot [g) cot (g) is interval
nom
@ ; @ (5%
(b) 3 .
5 ® |55
(c) 5
T
(d 1 (c) [0, 5]
38. J1+sinA =- (sin% +cos§) is true if (d) 10, 7]

3n 57
a) — < A< =— onl
(a) 2 5 y

41. The points (@ b), (0, 0), (-a —b) and
ab, b?) are
(b) g<A<%only ( )

(a) the vertices of a parallelogram

(c) on <A< e
2 2 (b) the vertices of a rectangle
3n !
(d O0<A< o (c) the vertices of a square

{d) collinear
39. In triangle ABC, if

o i . 2 .2
sin” A+sin” B+sin- € =2 42. The length of the normal from origin to

2 2 2
cos® A+cos” B+cos® C the plane x +2y—2z =9 is equal to

+han thoa trianale ic



43. R o, B 3t y 3 v & <t wRw OP (O Hg- 46. AR a o b A ww whw & @ uhe
firg ?) FRws @l 1 oo R ¥ @ (@ + D) x (& x b) Tordeh AR 27
AT R, @ e A A - ad £

(@) (&-Db)
1. coszoc+coszi3=sin2'y i
2 sin2a+sin28=cosz'\{ (B Ya+5)
3. sin?o +sin?B+sin?y =2 (c) (2a-b)
= o 7Y e 1 wE W wh IR gh) (d) (2a+b)
(@) FIA 1 3R 2
(b) T 2 3R 3 47. 5l wu W fg Af+2)-36) ¥ fs
(c) eet 1 3R 3 B(31 - j+ 5k) 7% forenfia +3 % faq
. I F =1+ 3] + 2k %1 580 fa s 31 =
5 % gR1 Forn &6 feraen Brm?
44. @3 x+y-3=0 3R x-y+3=0% &9 (@) 57
F R o T AU @R x—/3y+24/3 =0
AR VBx-y+1=0F =T F W B B (b) 7%
ﬁmﬁ%ﬁq-ma‘aﬁ%i’ (c) 91{@3
(@ o=p (b) a>B @ 107
() o<P (d) o =2

P 48, Tedt wfew @ % fow
45. AA AT & =7 +2]-K, p =21 - j+3k 3l

¥ =27+ j+6k &7 aRw ¥ 7R & sir B A |d %12+ |d x jI2+]d x k|
ARy 5 Wers e 8.7 =108, A 8 Torae = 27
TfeaTor = B 7 N
(@) |d|?

(@) 3 3Ife
(b) 23 FfFe (b) 2[3|?

J3
(C) —é“tl'ﬁz (c) 3|a’|2
Gl s

LB (@ 4|df]?

ADU-S-LET/81A 16



43. If o, B and y are the angles which the 46. If @ and b are two unit vectors, then the

—_ A R ~ KU

vector OP (O being the origin) makes vector (@+b)x(@x b) is parallel to
with positive direction of the coordinate $

axes, then which of the following are (a) (a- b)

correct?

1. cos?a +cos?p =sin?y (b) (a+Db)

2. sin2o +sin?p=cos?y (c) (2a-b)

3. sinz_a +sin? B+sin27 =2 .
(d) (2a+ b)

Select the correct answer using the code

given below.

(@) 1 and 2 only 47. A force Fais 37 +2k acts on a particle to
(b) 2 and 3 only displace it from the point A(f +2j - 3K)
(¢ 1 and 3 only to the point B(3i - j+5k). The work

d. 1,2 d 3 done by the force will be
, 2 an

(@) S units
44. The angle between the lines x +y—3=0
and x — y+ 3 = 0is o and the acute angle (b) 7 units
between the lines x —+/3y+2+3 = 0 and
J3x-y+1=0 is B. Which one of the
following is correct?

(a) oo=p (b) o>P (d) 10 units
(c) o<P (d) o=2B

{c) 9 units

48. For any vector a

45. Let d=1+2j-K PB=20-j+3k and
z=25+ j+ 6k be three vectors. If o and [@xi2+[dx j2+d x k2
B are both perpendicular to the vector

% and g? =10, then what is the is equal to

_)
magnitude of §?



49. - F =R 3R el g Tk =AfRE 98 el
® T 31 gameR-wedt Y SqQ Rl w1 arTee
e 10 m ¥ 3R SHT varenl-Tawdl & g

T 8m 2 IWk TN URSE 9Y H AR
TeraT &7

(@ 187 9 HieX
(b) 157 & MK
(¢) 127 HR
(d) 8nai iR

50. fog (1, 3) it W1 2x+3y=6 3 g, & %
Wl 4x + y=4 & FaR 791 7 ¥, Rrad) &7
5
(@) ,/T‘:;II‘EE

3
(b) ﬁiﬁ'ﬁ'

{c) JT?qﬁz

V17
2y

51. Il Wle af + j+K, T+ bj+ Kk 31+ j+ck
(@, b, ¢ # 1) GHdH &, q
1 1 1
+ +
l-a 1-b 1-c¢

52. forgelt (-3, 4,-8) 3R (5, -6, 4) F e

arefl @1 F1 Xy-ad ¥ wiese-fg FE-a
27

53. ufe w@ed, foms Rg-agom (2, -1, 2) 3R

(x,S,S)%,%EEﬁ%lEHWg%,?ﬁxW
YR HAH A1 87

(@) 52

(b) 4

(c) 2

@ 1

54. e 2x2 +7y? = 20 % wnw g (1, 2) A

LD A



49. A man running round a racecourse notes

that the sum of the distances of two
flag-posts from him is always 10 m and

52. The point of intersection of the line

joining the points (-3,4,-8) and
(5, — 6, 4) with the XY-plane is

the distance between the flag-posts is

8 m. The area of the path he encloses is (@) (Z .8 Oj
? 31

(a) 18n square metres

(b) 15m square metres (b) (_Z, H§, ]
3 B

(c) 127n square metres
7T 8

(d) 8n square metres () |-=,=,0
3" 38

50. The distance of the point (1, 3) from the 7 8
line 2x + 3y = 6, measured parallel to the (d) [5 3’ 0)

line 4x+y=4, is

(a) . units

w13 53. If the angle between the lines whose
5 direction ratios are (2, -1,2) and
(b) —— unit - x. 3, 5) is = then the smaller value
17 ( L] H] ) 43
of x is
(c) 17 units
(a) 52
V17 .
d) —— units
L () 4
(c) 2
51. If the vectors ai+j+k, i+bj+k and
(d 1

i+ j+ck (a, b, c# 1) are coplanar, then
the value of
1 1 1
+ +
l1-a 1-b 1-c

54. The position of the point (1, 2) relative to
the ellipse 2x2 + 7y2 =20 is

1s:equal ‘te (a) outside the ellipse
(@) _O (b) inside the ellipse but not at the
(b) 1 focus
() a+b+c (c) on the ellipse
(d) abc (d) at the focus
ADU-S-LET/81A 19 | PIT.0.



55. Th WA @I, S y-3A& 6l Faomess fosm o 58. 30 Jd H FHERO ® R, W faged (1, 0),

5 gfe # IJa@e Hredl § AN x-37y I (0, -6) R (3, 4) A B TRa 27
YATCHe {33 o 19 120° T 107 ST 8, H 5

frror T 37 (@) 4x? +4y? +142x +47y+140=0
(@ y+v3x+5=0 (b) 4x? +4y? -142x-47y+138=0

b -43x+5=0
b) y—3 () 4x2+4y? - 142x+47y+138=0
(c) y+/3x-5=0

d) 4x? +4y? +150x -49y+138 = 0
(d) y-3x-5=0 () o i Ch

56. 39 @1 F g w1 R, S Brg (2, 3) ¥k 59. TF W wAad Tt Ford forg (g, b, o ¥ B
Wl 2x-3y+7=0 A Tx+4y+2=0 TSRl & 3R A& H HHI: A, B 3N C W
% Wfdese-Torg o SR Teret 37 Il 8| % OABC % %5 *1 fargay, wiaf
O Tdx waferg ®, Fm-wr &7
(@) 21x+46y-180=0
(b) 21x-46y+96 =0 St
(c) 46x+21y-155=0

(d 46x-21y-29=0

57. 39 <Hga w1 wie w1 R, RSgew F
qaﬁaw,aﬂﬁaax-aaﬁsma,amg

(@ Z+34+2-9
HR oed YFen 4 e }7 a b c
x2 7y2 .
(a) +—Z_ =1
1024 64 60. 3U HAAT 1 GHEO TR, S GEdel
xX+y+z=1 2x+3y+4z="7 H vla=deq
5) A0x? W 4 W d IR A R A W@
1024 64 X—5y+3z =5 o 87
a +2y+3z-6=0
s 722 +49y2 s (@) x+2y
1024 64 (b) x+2y+32+6=0
2 2 (c) 3x+4y+5z-8=0
(d) ——+¥ -1 -
S 1024 64 (d) 3x+4y+5z+8=0

ADU-S-LET/81A 20



55. The equation of a straight line which cuts

off an intercept of 5 units on negative
direction of y-axis and makes an angle

58. The equation of the circle which passes

.through the points (1, 0), (0, -6) and
(3, 4) is

120° with positive direction of x-axis is

(@)
(b)

(c)

(d)

y++/3x+5=0
y-3x+5=0
y++3x-5=0
y-+3x-5=0

56. The equation of the line passing through

(@ 4x?+4y? +142x+47y+140=0

(b) 4x? +4y% -142x-47y+138=0

(c)

4x% +4y% -142x +47y+138=0

(d) 4x2+4y? +150x-49y+138=0

59. A variable plane passes through a fixed

the point (2, 3) and the point of
intersection of lines 2x - 3y+ 7 =0 and
Tx+4y+2=0is

(@) 21x+46y—-180=0

(b) 21x-46y+96=0

fc) 46x+21y-155=0

(d) 46x-21y-29=0

57. The equation of the ellipse whose centre

is at origin, major axis is along x-axis

with eccentricity -g and latus rectum
4 units is

x?2 7y2

+——=1
¥ Tomat ek

SC L
1024 64

(b)

2 2
7x +49y =i

(c)

1024 64
2 2
il =l e
1024 64
ADU-S-LET/81A 21

point (g, b, ¢) and cuts the axes in A, B
and C respectively. The locus of the
centre of the sphere OABC, O being the
origin, is

(a) £+2+E=1
a b ¢
a b c

) =

(b) —+—+—=1
x Y =

(c) L e
X WS

(@ Z+¥+Z-2
a b ¢

60. The equation of the plane passing

through the line of intersection of
the planes x+y+z=1 2x+3y+4z=7,
and perpendicular to the plane
x-5y+3z=2>5 is given by

@) x+2y+3z-6=0
(b) x+2y+3z+6=0
(¢ 3x+4y+5z—-8=0

(d) 3x+4y+5z+8=0

[ BiTiO,



61. e y= 5% 1 gfad™ F1 87

(@ x=yws, y>0

(b} x=3""; y>0

|.—

o

(c} x:y]n’ y<0

{d x=5lny, y>0

62. T HeH FETgER Faiia g ¢

X
— x#0

Flad=il o :

0 s x=0

I e & Had # Frfafga § @ HF-a
el 87

(@ f(x), x=0 W Had & fhg x=0 W
aheH g el B

(b) flx), x=0 W "ad BT F TI-TY
e off ®

© f(x), x = 0T 3EA &

(d) 3w H Q HIE T

63. Il y= (cosx)tcosx)(cosxr g, @ % forash
TR 27

y2 tan x
1- ylIn (cosx)

(@ -

~

64. THfAREd W fER T .

1. x+x2, x =0T Hdd &

2. x+cosl, x=0W JHdd &
%

3. x2 +cosi, x =0 W Had &
%

I | § HE-T T R
(@) Fae 1 3R 2
(b) Hae 2 3R 3
(c) a1 3R 3

(d 1,233

65. frefafa Fert T R AR -
1. %%%ﬁﬁ@m%,mﬁ@mw_
@1 &) yaurdr <d1 g |

2. AR qt) Fret &1 F RO F T g,
ol Ia(t)dt+c313{ FUT o A R WG
T B

3. AR s(t) T ¢ R forelt o1 & feremaT

WW%,?ﬁgmmww%

0T Sl T AT B
39 | @ HH-41/ Fue T /37



61. The inverse of the function y=5%% is

1

(@ x=yms, y>0

(b) x=y"% y>0

(c)

1

X = ylhns, y<0

(d x=5lhy, y>0

62. A function is defined as follows :

e D
flH)=1 x2"

0 5~ =0

Which one of the following is correct in
respect of the above function?

(@)

(b)

f(x) is continuous at x = 0 but not
differentiable at x =0

f(x) is continuous as well as
differentiable at x =0

(e} f(x) is discontinuous at x =0
(d) None of the above
63. If y=(cosx)9°*? | then W js
dx
equal to
2
(@) Yy tanx

e yln (cos x)

~

64. Consider the following :

e

2

3.

2

X+ x* is continuous at x=0

1. . .
X +cos— is discontinuous at x =0
X

1. ;
x2 +cos— is continuous at x=0

X

Which of the above are correct?

(@)
(b)
(c)
(d)

1 and 2 only
2 and 3 only
1 and 3 only

1, 2 and 3

65. Consider the following statements :

1.

% at a point on the curve gives

slope of the tangent at that point.

If a(t) denotes acceleration of a
particle, then Ja(t) dt+c gives

velocity of the particle.

If s(t)

particle at time t, then % gives its

gives displacement of a

acceleration at that instant.

Which of the above statements is/are

PaYat ol



66. IR y=secl (_?f_'i'_i)_l_sin—l (xulj 3 @ 69. FTH f(x) = x(x — 1)(x + 1) % Heodf # Fr=ferRaq

. x - x+1 o Y -9 gE 27
Y oy
e R 7 (@) ¥R RHaT 9H, TIHY AT 7E §
@ 0 CEI
g (b) TR JAfERaH A, T _EeE °H Y
ot e %
]
g = (c) o T HE T it TE R
@ Xt (d) A T HIE W =HaH TE
x-1
70. THfafad weAt | ffEr fifsw .
67. J.t&m'1 (sec x + tan x) dx TorEe s=X 87 1. f(x) 1 eahoe, Trdt fog @ Gvem:
2 i # 7 8 Wb 2
(a) 2—x+54—+c 2. f(x) 1 FFHes, fret foarg w aftfea:
) sTfered # B wehat B
(b) %"H‘Tm 3. flx) F Fawe, TRl fag w sl
(st &9 /) 8 Hear 2|
X 7'I:J(.'2
(c) P 3IUgTh W HH-A HYA TE 87
2 (a) %A 1 3R 2
LT (b) e 2 3N 3
i (c) “aw 1 R 3
68. (0, o) H T %o 39 YR Frwfia - W 1adhs
1- x2 , 0<x<1 & fou
Fln = In x , l<x<2 & fou o
In2-1+0-5x, 2<x<o % fog 71. TWGWFWWHW%?
T o TS AU f/(x) F Ged # e # (a) e
[ HH-91 el 27 i
(@ f'(x)=2x, 0<x<1% U (b) e
(b) f(x)=-2x, 0<x<1% fog . 5
C —
() f'(x)=-2x, 0<x< 1% fag e
(d) f'(x)=0, 0<x <o for (d) 1

DU-S-LET/81A 24



66. If y=sec_1 (x—ﬂj+sin_1 (x—l)’ then

x—-1

%isequalto

(@) O

(b) 1
x—-1

c

(c) x+1
x+1

) e

(d) T

to?
2
nx . X
a) —+—+c
(ar =
2
X X
b) —+—+cC
{b) 2 " 4
2
(c) E{-K-}-C
4 4
2
(d) e
4 4

68. A function is defined in (0, <) by

2 for O0<x<1

l<x<?2

InN2-1+0:-5x for 2<x<e

1-2x
In x for

flx)=

Which one of the following is correct in
respect of the derivative of the function,

ie., fx)?

(@) f'(x)=2x for O<x<1
(b) f’(x)=-2xfor 0<x<1
fc) fllx)=-2xfor0<x<1
(d) f'(x)=0for O0<x <o

ADU-S-LET/81A 25

69. Which one of the following is correct
in respect of the function

flx)=x(x-=1(x+1?

(@) The local maximum value is larger
than local minimum value

() The local maximum value is
smaller than local minimum value

(c) The function has no local
maximum

(d) The function has no local minimum

70. Consider the following statements :

1. Derivative of f(x) may not exist at
some point.

2. Derivative of f(x) may exist finitely
at some point.

3. Derivative of f(x) may be infinite
(geometrically) at some point.

Which of the above statements are
correct?

(@ 1 and 2 only
(b) 2 and 3 only
fc) 1 and 3 only
(d 1,2 and 3

71. The maximum value of is

X
(a) e
(B) =
@ 2
e
@ 1

[ P.T.O.



72. BeH f(x)=|x|- x> 2 76. jj" 1+singdxﬁﬁaéswé?

(a) Tomm
(b) €H . (@) 8
c) w| 3R fauy F -
(d) @ E|, q 8 faum
fc) 2
73. AlG '
ll=%(esinx)
. esin(x+h) _ sinx
= n 77. TF x|+ |y| = 150 TREg S e 37
13=J'esmxcosxdx (@ 133
®, @ = & @ w9-m v 27 ) G s
d —
@ b=l B =k (c) 27 g
dx = d) 1, =1
() [l Iy (d) Iy=I4 o e
74. %=Zx::wmwnﬁﬁﬁmﬁ
y -
& Frefa war ¥, 78-ﬁxﬁ3§mm%,?ﬁﬁwﬁ%ﬁm
(@ a=b=0 Wf{1+x4 ATdT 27
(b) a=-b=#0
() a=b#0, h=k (@ (0, 1)
{d a=b=#0

e e W ®) (o, 1]



72. The function f(x)=|x|- x> is
(a) odd
(b) even
(c) both even and odd

(d) neither even nor odd

73. If
d ;
[, = G (gsinx
1 dx{ )
esm(x+h) esinx
12 = lim
h—0 h

then which one of the following is

correct?

@ b #1, ) L) =1
dx

(c) Ilsdx=12 [d I=14

74. The general solution of

@=afx+h
dx by+k

represents a circle only when
fa) a=b=0

(b) a=-b#0

fc) a=b=#0, h=k

(d a=b#0

75. 1f im 30X _jgng lim 22% = m, then
x== X X—ee X

2
which one of the following is correct?

(a) l-:lim:]- (b) I=—,m=oo

(@ 1=2,m=0 (d
T

ADU-S-LET/81A 27

2
76. What is jo“ 1+sin:’25dx equal to?

(@) 8
(b) 4
(¢ 2
(d O

77. The area bounded by the
|x|+|yl=11is

curve

(a) 1 square unit
(b) 2+/2 square units
(c) 2 square units

(d) 2+/3 square units

2

78. If x is any real number, then

1+ x4

belongs to which one of the following
intervals?

(@ (0, ])

m (o05]

o (o}
(d) [0, 1]

[P.T.O



79. f(x)=[x]sin(nx) H x=k W THEA
ehersl 1 B, W@ k TH QUIR ¥ IR [x]
HETH UTTeh e &7

(@ (~)*(k-1n
() )k -1n
) (~)<kn

(d) ()% kn

80. uf f(x)=%—1 3, @ AW« [0, H
Frfafea 4 @ s=-w a8 37

(@) tan[f(x)], ST [-] HETH PITH HeH T,
s L 3 vaqq 3
fx)

(b) tan[f(x)], STl [-] HEGH qUIfeh HeH B,
AR () ST Haa &

(c) tan[f(x)], & [-] 7ewH If® HeH B,
st L 2T sraa 3
flx)

(d) tan[f(x)], SE [-] HETH IfF FeH T,

raad &, g — e
ﬁﬁﬂ.fLﬂ i

ADU-S-LET/81A 28

81. 3Tdohel THIH

T[]
I i IR °Td HHW: F1 7
(a) 3 A2
(b) 2 3R 2
(c) 233
(d) 13R3

82. Ifg y:cos'l[ 2% )%,?ﬁ%ﬁ?ﬂ%w

1+ x2

37

2
1+ x

(a) - ,F‘iﬁ|x|<1%ﬁﬁﬂ

2

(b) ~—>—, ®f |x|> 1% R
1+x

() —2_, wf |x|<1% R

1+x2

(d) 39 A @ HIE T

83. 3 wfl Trgali = wy=wm, eI weW

fl)=V1-e* amady 2, wF-a &7
(@) (0, =)

(b) (—oo, )

(c) (==, 0)U (0, )

@) (=1, =)



79. The left-hand derivative of

f(x) =[x] sin (nx) at x =k

where k is an integer and [x] is the
greatest integer function, is

(@ ()*k-1n

(b) (-)* Lk -1n

(c)

)% kn

d )*lkn

8Q1£ﬂﬂ=§—Lﬂmnm1memeMKLﬂ

which one of the following is correct?

(@)

(b)

(c)

tan [f(x)], where [:] is the greatest

integer function, and = E are both
fix)

continuous
tan[f(x)], where [-] is the greatest
integer function, and f “l(x) are

both continuous

tan [f(x)], where [-] is the greatest

81. The order and degree of the differential
equation

@] (2]

are respectively

(a) 3 and 2

(b) 2 and 2

(c) 2 and 3

(d 1 and 3

82. Ify-—*cos_l[ 2% ),then@is equal to
1+.x> dx

la ——2 fow el iz
146

(b) — 2 for all |x|>1
lanc®

(€ —2_ for all [x|<1

1+ x2

(d) None of the above

83. The set of all points, where the functios
cr.a _ ala ...—x2 in Aiffarantinhla o



84. -1 H -1 % Wy gafea Hfg i

i % R T 7Y F2 w1 T R OEE SR
-1 H-11
(weA) (crfererem 7e)

A. sinx+cosx 1. J10

B. 3sinx+4cosx 9, 3

C. 2sinx+cosx 3. 5

D. sinx+ 3cosx 4. /5

%< :

@ A B C D
2 3 1 4
bj>A., B_. C D
2 3 4 1

T A < OO o S

3 2 1 4

@ A B C D
3 o

85. AR f(x)= x(WVx —Jx+1) %, A f(x)

86. 1= ¥ ¥ ®H-W WH, B f(x) =2, x 20
X
w1 Frefie vt 27

Y
A
+1
a) < > X
(a) =
Yy
A
+1
b) < > X
() e
-1
v

(d) 3T § | BE 7

87. WM W f(n)=[zl+10"00}%, <&t [,
x % QUi feed A ffde wear ¥ sw A

1000
Y fin) A w0 RY



84. Match List-1 with List-II and select the 86. Which one of the following grapt

correct answer using the code given represents the function f(x) = =, x # 0
below the lists : %

y
A
List-T List-II #1
(Function) (Maximum
value) (a) < o > X
A. sinx+cosx 1. 10
Yy
B. 3sinx+4cosx 2, 2 N
+1
C. 2sinx+cosx 3. S
(b) < 5 %
D. sinx+ 3cosx 4, /5 e
A4
Code :
Yy
+1
(a) A B C D
2 3 1 4 (c) < z > X
(b) A B C D
2 3 4 1
(d) None of the above
(c A B D
3 2 il 4
@ & B e 87. Let f(n) =|:l+ A :|, where [x] denot
3 2 4 1 4 1000
the integral part of x. Then the val
1000
of Y f(n)is

85. If f(x) = x(vx —+/x+1), then f(x) is =}



88. [(Inx)~'dx - [(Inx) % dx fores s 27

(@ x(lnx)™!+c
(b) x(nx)™+c

(c) x(Inx)+c

(d) x(Inx)? +c

89. TH uTg hl 91 & P YEIF &GS HT AN Hh
fom A 99 T SeTeR SR @ fffa fomn
ST 1 9fe SR Y arfien eifteeam W B, @
SR W M, SR H FEE W kAR
a1few | 39 0 W k 1 HAH R 27

(@) 1
(b) 2
fc) 3

@ 4

90. J’E«/tanx dx+EJcotxdx w HH ThEs
T 87

(@)

|3

(b)

DA

¢ —=

(d)

=

ADU-S-LET/81A
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91. 7H WfifST g #eww quifh wer B| 3@ ewn #

A f(x) = (g(x)* — glx?) Fel v 2?7
(@) | TR | |

(b) 0 3R 1 e q+ft quifehi W

() O H Brewt Bt uifeni W

(d) 1 SR q:ft gt W

92, ¥ y= A[sin (x+C)+cos(x+C)] #H

W= J9 A R ¢ F s (feiw) @
oo e hife 1 Sreee gt S1-|1 87

(@) y”+(sin x+cos x)y’ =1
(b) y” =(sinx +cosx)y’

¢ y’= (y’)2 +sinx cosx

[d y“+y=0

93. f=fiiaa %Al W =R Hifs .

EX G B

x>sinx,¥¥‘ﬁx>0%'f%’ﬂ{

Y4 II :

flx)=x-sinx TF THAF Ted &, g
x>O%F‘FﬂQ

ST B % wadd & Rrefefad ¥ -
@ ¥

(@) HI 1 3R FHH 11 AT G& O, @
YT 1 1 GE! TIEH HeH 11 ]

(b) HU 1 AR FH I 3] @& ®, @A
FYA 11, FoF 1 1 Ge HEH 48 B

(c) F9F 19 B, g FoH 11 Tod &
(d) 99 17ed 7, Toorg oM 11 6 ©



88. J'(lnx)*ldx— J(lnx)’2dx is equal to
(@ x(nx)!+ec
(b) x(Inx)™2 +c

fe) x(lnx)+e

[d) x(nx)? +c

89. A cylindrical jar without a lid has to be
constructed using a given surface area
of a metal sheet. If the capacity of the
jar is to be maximum, then the diameter
of the jar must be k times the height of
the jar. The value of k is

(@) 1
(b) 2
(¢ 3
(d) 4

90. The value of

detanx dx+ﬁ«/cotx dx

is equal to

T
(@) Z

(b)

(SR

© —=

(d)

ADU-S-LET/81A
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91. Let g be the greatest integer functio:

Then the function f(x)r.(g'(x))2 - glx

is discontinuous at

(a) all integers

(b) all integers except O and 1
(c) all integers except O

(d) all integers except 1

92. The differential equation of minimu:

order by eliminating the arbitra;
constants A and C in the equatic
y=Al[sin (x + C) +cos(x + C)] is

(@) y”+(sin x+cos x)y’ =1
(b) y” =(sinx +cosx)y’

(€ y”=(y)? +sinxcosx

d y“+y=0

93. Consider the following statements :

Statement 1 :

x>sinx for all x>0

Statement II :

f(x)=x-sinx is an increasir
function for all x>0

Which one of the following is correct i
respect of the above statements?

(a) Both Statement I and Statement
are true and Statement II is tt
correct explanation of Statement

(b) Both Statement I and Statement
are true and Statement II is not tk
correct explanation of Statement

(c) StatementI is true but Statement
is false

(d) Statement I is false but Statement
is true

[ P.T.C



94, el HHIH 97. Y8

dy _ yo'¥)-y? I 0 2
dx ¢(x) A=|2 1 0
0°3. 1
1 TG =1 87
(@ y=—2 1 TEESS T HI-91 87
o(x)+c
(%) [=1 6 2]
B) g== % (@) [—2 1 —4‘
6 3 1
(e) y=——¢(xl+c
_ 0(x) 1 6 =2
= m -2 1 4
6 —& A
4
X
‘cl‘ffog[:i)aﬂmqﬁa%m%? (c) 2_31, 211
(@ 2 3
(b) 1 [-6- 2 1
X s
4 i
(d) 5
e 8. A a7 2] e A4 v
l-g o—o? @2
L=f . fape e 7
1-y y-y? y?




94. The solution of the differential equation 97. The adjoint of the matrix
dy _ y¢'(x) -y

10 2
dx ¢x) A=|2 1 0
is 0 31
X
a = :
(@) y o P e
(b) y=@+c [-1 6 2
@ | -2 1 -4
% i
X
(d) y=jLL )
) |-2 1 4
6 -3 1
4 L
98, I rpo=2%F"% and g(x)=1n[1+—x),
1+4x3 1-x
thmlwhm:mthevmueoffog(e'i) 6 . 2
e el |4 ~1 2
equal to? & A
(a) 2
&) 1 -6 B 1
(¢ O (d) 4 -2 1
1 3 1 =6
d) =
(d) 5
96. The value of the determinant D B
9 o 98. If A=[ J, then which one of the
l-a a-0“ o 2~
1-p p-p2 p? following is correct?

1-y y-v2 y2

7 - -~ a



99. Re (z2 -i)=2, W& i=+-1 ¥ ¥ Re 102. AH ST 5 T 9 & 39 TR o S ¢ e

arafys s 2, wfdE w9 ¥ Feld UH FEAH F AW H G, Fuw FEw *
M1 B, T ST W1 & AW h yifiehar
(@ 9 77
(b) T 1
(@ -
(c) SRR R =
(d) TEeE "
L
00. 4% p+g+r=a+b+c=0%, A GRm®
pa gb rc (c) s
gc ra pb °
rb pc qa
S
forgreh s &7 (d) 9
(@ O
(b) 1
z 103. A i wiewi @@ 50 % FO® T
% Parg e & w7 2, X 3 wens A Ay ww
(d) pa+tgb+rc+a+b+c TS 3 % P B 3R v fawm dematt = fflds
w8 = ¥ Fe-un/A wd /8
101.aﬁgzﬁafﬂaﬁﬂ%waﬁﬁ%wma j p()():i
ARFE hl T EEf aAE T %) Wi 3§ 25
geneld: T afgel & e <hl @ Wifenar &7 n p{y)=l
. .
1
(a) 6

H= o 1T e =1 W@ = e IW g



99, Geometrically Re (22 —i ) =2, where

i=+-1 and Re is the real part,
represents

(a) circle
{b) ellipse
(c) rectangular hyperbola

(d) parabola

100. If p+g+r=a+b+c=0, then the

determinant
pa gb rc
qgc ra pb
rb pc qga

equals

(@ O

(b) 1

(c) pa+gb+rc
(d pa+gb+rc+a+b+c

101. A committee of two persons is selected
from two men and two women. The

probability that the committee will have
exactly one woman is

1
(a) =

102. Let a die be loaded in such a way that

even faces are twice likely to occur as
the odd faces. What is the probability
that a prime number will show up when
the die is tossed?

@ X
® 2
@ 3
@ 2

103. Let the sample space consist of non-

negative integers up to 50, X denote the
numbers which are multiples of 3 and
Y denote the odd numbers. Which of the
following is/are correct?

1. PX)= 2%
. P(Y):é

Select the correct answer using the code
given below.



104. &1 WA A 3R B ¥ fow, mm iR 106. 5= w2 ©& 15 Y&on ¥ UF wiesl & GHIR

R P(A n B) foruss =R 27 A & e 27
@ =

(b) 8

(c) 16
® 5 @ 24

107. Fr= o @ FH-91 x W y & THIHAY O R

(c) 4 y W x % GHIHI 0N % WHI 61 Ggfad IH
3 HAT ST Gehell 87
; (@) (1, 1)
ol () (-1, )
o (49
105. Frfafad Horl | fFrem hife : (@ (1 Q)
1. ToreRoT TUrieR, =R % A9 3o 1 R b
Ll B
2. @ (W), aRe&mor i T A9 7| 108. HH @INT fF A 2t B 2 wed %, fmes forg
3. e ReEeM W@ =EE da ¥, W P(A)=3, P(B) =2 3% PANE) = &
ifeder & g & e foRm T R

P (B|A) foraeh srem 27

Wmiiﬁ?ﬁ—@fﬂ%ﬁ%? (@) %



104. For two events A and B, let P A) = l, 106. Given that the arithmetic mean and
standard deviation of a sample of

P(A uB)=E and P(AmB):l. What is 15 observations are 24 and O

3 6 respectively. Then which one of the

following is the arithmetic mean of the
smallest five observations in the data?

P(A N B) equal to?

1
(b) 8
(b) 41 (c) 16
(d) 24
1
(c) 3 107. Which one of the following can be
considered as appropriate pair of values
of regression coefficient of y on x and
(d) 1 “ regression coefficient of x on y?
(@ (1, 1)
(b) (-1, 1)
105. Consider the following statements : ) [ 1 2]
C =3

1. Coefficient of variation depends on

the unit of measurement of the d 1 10
variable. (@ (5’ ?)

2. Range is a measure of dispersion.
1

108. L d B be tw ith P(A) ==
3. Mean deviation is least when ef. s an be two events wi (4) 3’

measured about median. P(B) =é afid PAHE]= 1_12 g
Which of the above statements are P(B|A) equal to?
correct? 1

(a) 5



100. TF foug deq § Weg 2 % ok e 2 ) ™ 112. 7 fon T % % X =10, 790, oy =3,

aTd <ht o WiReRaT & TR X =2 |17 HHTHOT FHROT ST BT
(@) 3_56 (@) Y =3-2X+58
(b) X =3.2Y +58
b) 2
36 ¢ X=-8+0-2Y
e (d) Y=-8+0-2X
(c) 216
" )
- % 113. Afe P(B) = 2, P(AnBNC) 3 3R
P(ZanE)=~31« ®, @ P(BnC) TFas
110. fFel e0Me W TF e % GEE@ ugead TR Y
1 &
uﬁmg%ismﬁﬁm@m (a)l_lj (b)g
4 SETSI % I8 Qe ggen hl WIidshdr 1 ; ’
" 1 1
2t (c) = (d) 5
@ o
” 114, F=faRes arofl § @ wferi & @ifts =@ fig
®) 5oz T
© % =g (¥ o)
4 g TfEr A qfEr B
@ 13 = 3,500 2,700
243
we 500 800
B ,500 1,000
111. 98 Wikerar w1 § 76 & =afedl & o o # L ;ooo 1,800
3 -8 3 e @ W b o ’ 1500
T o 2,500 8
” % Iy ifepe] ¥ guna sm % fog, Fe 3 @
fore ©F agua # Il o Bt W g
17 BAm?
(b) 3
(@ 1«1
() :
144 () 10:9
2 (¢) 100 : 91
(d) 5 :
(d 5:4
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109, T & Binomisl AistHbGHGS, the THean is %

and the variance is g What is the

probability that X =27
5

(@) 36

?E

36

25

216

25
54

(b)
(c)

(d)

110. The probability that a ship safely reaches
a port is % The probability that out of

S ships, at least 4 ships would arrive
safely is
1
a —-
(@ 243

10
243
11
243

13
243

(b)
(c)

(d)

111. What is the probability that at least two
persons out of a group of three persons
were born in the same month (disregard
year)?

33
a —

(@ 144

17

T2

A

144

2
@ 3

(b)

(c)

ADU-S-LET/81A

41

112. It is given that X =10, Y =90, 6y =3,
oy =12 and ryy = 0-8. The regression

equation of X on Y is
(@) Y=3-2X+58
() X=3-2Y+58
() X=-8+0-2Y
(d Y=-8+0-2X

113. If P(B):% P(ANBAC)=
J?’(z'_&r\Br\_)=l
3
equal to?
1 3
=2 i =
(a) 15 (b) :
1 1
S e R
fc) 15 (d) 5

L and

W

, then what is P(BNC)

114. The following table gives the monthly

expenditure of two families :

Expenditure (in ¥)

Items Family A | Family B
Food 3,500 2,700
Clothing 500 800
Rent 1,500 1,000
Education 2,000 1,800
Miscellaneous 2,500 1,800

In constructing a pie diagram to the
above data, the radii of the circles are to
be chosen by which one of the following

ratios?

g &1gd

(b) 10 :9
(c) 100 : 91
d 5:4

[ P.T.O.



115. ¥f¢ Tk =W &% HE O, 1, 2, 3, ..., n HAW: 118. T=fafas sl w famm Hifsg

gf 1. HE, gaferg giEcq R et qiEdd 9
1, Cin, 1), C(n, 2), Cln, 3), ..., Cln, n) a1

% Y VW g &, @ i e =@ g 2. WE 7O, A& H e @ @R g

(@ 2n 2

(b) n+1 3I9YTE heAl A F HH-61/A T /27

% (@) a1

(@ =
2 (b) ¥ 2

116. T wgioheda wlien # wh wlanefl @ @ @& (c) 13 2aHi
IM SHal & TR wiRear p ® W SN
T 2 v TRl 1- p §1 A 9 e (d) I, T2

A THIET §, O W B IW HE TR R

S
E%luﬁqﬂmﬁ@mmmw 119. 1, 3, 5, 7 ¥R 9 Fe ww=h uiw ofeaf < 75 &)

& R, A 98 wikehar <= Bt 7 98 wee i ¥ I sfeal agesw o E ¥ oW
IR S -7 wiieRar = ® 5 g 8 sfeal w Bigw w
| B Hehell 7
1+mp il 1055
b s
L
() 1+(m-1)p (b) 04
(m-1)p
{C) m (C) 0-3

117. AR x; 3 x, Gews TRMET E, @ Fb THIW 120. HgqwRy IO 1 OB0T, Ffe WHEREO O

e SR IR W ¥ oA w SR 1@ 0-2 3R 1:8 77
s B w1 wfoae @ gm? -

(a) x;+xq>2[x1x5

(b) Jx1 +x3 > 2 I B2

© I ~%z 1> 2 © 06

(d) x;+xy <2(Jxxy +1) (@ 09
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115. If a variable takes values O, 1, 2, 3, ..., n

with frequencies
1, (€ 1)y Clm, 2),. O, 3)y sy Ty

respectively, then the arithmetic mean
is

(a) 2n
(b) n+1
c) n

n
(d) Y

116. In a multiple-choice test, an examinee

either knows the correct answer with
probability p, or guesses with
probability 1- p. The probability of
answering a question correctly is i,

m
if he or she merely guesses. If the
examinee answers a question correctly,
the probability that he or she really
knows the answer is

6] —=
1+mp
mp

(b) 1+m-1)p

(m-1)p

() 1+m-1)p
+mp

117. If x; and x, are positive quantities, then

the condition for the difference between
the arithmetic mean and the geometric
mean to be greater than 1 is

(@) x3+xy >2,/x1%x5
) i +xz > 2
(©) Ix =yxz |>+2

(d) x;+x5 <2(Jx1%x5 +1)

ADU-S-LET/81A 43

118. Consider the following statements :

1. Variance is unaffected by change of
origin and change of scale.

2. Coefficient of variance is
independent of the unit of
observations.

Which of the statements given above
is/are correct?

() 1 only
(b) 2 only
fc) Both 1 and 2

(d) Neither 1 nor 2

119. Five sticks of length 1, 3, 5, 7 and 9 feet

are given. Three of these sticks are
selected at random. What is the
probability that the selected sticks can
form a triangle?

(@) 05
(b) 04
(¢ 03
(d O

120. The coefficient of correlation when

coefficients of regression are 02
and 1-8 is

(@ 036
B) 02
(c) 06
d 09

[P.T.O.
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